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@j\_/n Solving Sequence

9-3—-8—>2->10->5->11>6—>1—7->12>Cs,C11
c3 €g C2 Cg C4 Cio C5 C1 C7 C12

Ideals for irreducible component#ﬂ)f Xpar

I = (W =™ 4?4 1)

* 1 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIf= (W' —u+. ... +u?+1)

(i) Arc colorings

w-(3)

ag =
az =
ag =

ag =

w? —5ut +9u® —6ub +u?+1
u — 6u? + 13u!0 — 10u® — 2ub + 4u* + u?
—u'? + 8ul” — 26ul® + 42u'3 — 31utt + 20 + 8u” + 2u® — 5ud
a2l 9 B

—u® 4+ 110+ u? 41
—u® + 1202 + - 4 Tyt + 202
—ut+u? 41

—ut + 202

—u't + 4u® — AU — 208 + 303
—ul 4+ 502 —8u" + 3uS +ud +u

ut® — 18uM + - 4 2u® — 5ud

arz =\ u® —19u* +... +ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u*® — 84y%0 + ... — 4y — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 WPt — 13050 4+ 4 120+ 1
C2,C3,C8 W= w41
o T w4 —8u+5
€10
€6, C11, €12 wt — w0 41
9 u51+3u50+..._2u_|_1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 Y=y 4+ 130y — 1
C2,C3,C8 Yol =45y =2y — 1
4 5, 7 Yl —61y™ 4. 4214y — 25
€10
€6, C11, C12 Yt +39y°0 + - —2y — 1
€9 Y+ Ty 4 450y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.902903 + 0.3255771

—5.89300 — 4.561541

—5.05236 + 4.074301

u = —0.902903 — 0.3255771

—5.89300 + 4.561541

—5.05236 — 4.074301

u = 0.880468 + 0.3354361

—9.82971 — 0.246221

—8.39004 — 1.016601

u= 0.880468 — 0.3354361

—9.82971 + 0.246221

—8.39004 + 1.016601

u = —1.06813

—1.03647

—8.72440

= —0.856904 + 0.3406971

—5.78926 + 5.036481

—4.83082 — 1.946711

= —0.856904 — 0.3406971

—5.78926 — 5.036481

—4.83082 4 1.946711

= 1.124900 + 0.134876.1

2.48134 + 3.322801

—4.00000 — 4.364231

1.124900 — 0.1348761

2.48134 — 3.322801

—4.00000 + 4.364231

—0.235766 + 0.7598251

—7.79875 — 9.113451

—7.48289 + 6.590201

= —0.235766 — 0.7598251

—7.79875 + 9.113451

—7.48289 — 6.590201

0.226258 + 0.7617731

—11.92180 + 4.318581

—11.15925 — 3.684361

= 0.226258 — 0.7617731

—11.92180 — 4.318581

—11.15925 4 3.684361

= —0.215763 + 0.7608941

—8.06841 + 0.515761

—8.00781 + 0.534211

= —0.215763 — 0.7608941

—8.06841 — 0.515761

—8.00781 — 0.534211

= 0.257995 + 0.6604481

1.16289 + 6.095191

—4.37920 — 8.327481

= 0.257995 — 0.6604481

1.16289 — 6.095191

—4.37920 + 8.327481

—3.14927 — 2.958881

—11.20613 4 6.093431

—0.206282 — 0.6599871

—3.14927 + 2.958881

—11.20613 — 6.093431

0.131114 + 0.6527921

—0.354349 — 0.2647141

—8.41042 — 0.519511

0.131114 — 0.6527921

—0.354349 4 0.2647141

—8.41042 + 0.519511

U
U
U
U
U
U
U
U
U
U
U
U
u = —0.206282 + 0.6599871
U
U
U
U
U
U
U
U
U
U
U
U

= 1.339110 + 0.1394211 3.66804 + 0.853901 0
= 1.339110 — 0.1394211 3.66804 — 0.853901 0
= —1.341180 + 0.2481381 4.28060 — 2.994251 0
= —1.341180 — 0.24813871 4.28060 + 2.994251 0
= —1.354380 + 0.2017651 4.54456 — 3.466321 0
= —1.354380 — 0.2017651 4.54456 + 3.466321 0
= —1.390510 + 0.1247341 8.28822 4 1.340281 0
= —1.390510 — 0.1247341 8.28822 — 1.340281 0
= 1.375440 + 0.2612401 1.86998 + 6.313431 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = 1.375440 — 0.2612401 1.86998 — 6.313431 0
u = 0.539099 + 0.2600491 2.52247 — 2.756521 | —0.95244 4 2.727581
u=0.539099 — 0.2600491 2.52247 4 2.756521 | —0.95244 — 2.727581
u = —0.322141 + 0.49514271 4.37007 — 1.5132171 1.58286 + 4.811491
u = —0.322141 — 0.49514271 4.37007 4+ 1.513211 1.58286 — 4.811491
uw= 1.398710 + 0.2008391 9.80592 4 4.117061 0
uw= 1398710 — 0.2008391 9.80592 — 4.117061 0
u= 1.38564 4 0.309781 —2.99097 + 3.358281 0
u= 1.38564 —0.309781 —2.99097 — 3.358281 0
u = —1.39681 + 0.260021 6.43038 — 9.452651 0
u = —1.39681 — 0.260021 6.43038 4 9.452651 0
u = —1.39168 + 0.309471 —6.78632 — 8.196351 0
u = —1.39168 — 0.309471 —6.78632 4 8.196351 0
u = —1.42815 —2.73211 0
u= 1.42821+0.016411 1.24343 — 4.608151 0
u= 1.42821 —0.016417 1.24343 + 4.608151 0
u= 139668 + 0.307591 —2.61209 + 12.979301 0
u= 139668 — 0.307591 —2.61209 — 12.979301 0

u

= —0.535707

—1.25126

—7.55560

u

= 0.146686 + 0.4751061

—0.235868 +- 0.894366.1

—5.34109 — 7.351621

u

= 0.146686 — 0.4751061

—0.235868 — 0.8943661

—5.34109 + 7.351621




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 w1300+ 120+ 1
C2,C3, Cs W e+ 1
C4,Cs,C7 u51—|—u50+--~—8u+5
C10
Cg, C11, C12 W=+ 1
9 Pt + 300 - —2u 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 51,50, . B
Yol =0 130y — 1
C2,C3,C8 Yol —apy0 . — 2y —1
e y*l —61y°0 ... 4+ 214y — 25
C10
C6,C11, C12 y51+39y50+~--72y71
@ YL+ Ty 50y — 1




